Caster Kits - IH6074 Series

Models 6074A

L ]

SPT_027A



Caster Kits - IH6074 Series
Models 6074A

Quantity Per
Item
Number | Note | Part Number |Description Package | Assembly
1 A 1126605 Kit, Casters - Front 1 1
2 B 1126606 Kit, Casters - Rear 1 1

NOTE: A -Kitincludes: (2) Casters, (2) Pan Head Stem Bolts (3/8-16 x 2-3/8) and (2) Nylock Nuts (3/8-16).
B - Kit includes: (2) Locking Casters, (2) Hex Head Stem Bolts (1/4-20 x 38), (4) Washers (6.5mm) and (2) Hex Nuts (1/4-20).




